50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN 15CS63
Sixth Semester B.E. Degree Examlnatlon, June/July 2019
System Software and g@m%ﬁller Design

Time: 3 hrs. » Max. Marks: 80
B Note: Answer any FIV)
1 a. Explain SIC/XE architecture. L (08 Marks)
b. Generate the complete object for the following SIQ%‘X% assembly program.
¥ WRREC START “ 405D
CLEAR X
Ty  LENGTH
OUTPUT
WLOOP
BUFFER, X
OUTPUT
T
WLOOP
“ OUTPUT B
@d&?@; of BUFFER “% Y
iddress of LENGTHS;@%
N
JLT - 38’%
RSUB# 4C. (08 Marks)
2 a é’embler mdepen%n nd dependant feaﬁ;res and explain program relocation.
o’ % (05 Marks)
b. )Expiam the data structfar&%s&used in macro yfg@essor with example (03 Marks)
¢, ““Explain the followmguma‘éroprocessor mdﬁpﬁﬁdent features.

(08 Marks)

What is loadg.%. What are the basw functions the loader has to perform? (04 marks)
Develop an algorithm fordbeotstrap loader. (07 marks)
Explain dynamic lmklgg.,. th suitable diagram. (05 Marks)

¢ OR

Differentiate bet‘ween a linking loader and linkage editor, with the help of suitable diagram.
L, 7 (08 marks)

Explain different 1oader option commands with examples. (04 marks)

[llustrate MS — DOS object module with its record types. (04 Marks)




“4) Give LMD and RMD

Explain the concept of i 1nput buffering in the lexmgf%a,@aysm
What design objectives, complier optlmlzatlom mh@‘t meet.

LEXEMES

Any WS_

ptr to table entry

number ¢ ptr to table entry
relqopa LE
rekmp ) LE
&loop EQ
& reloop NE
GE

Define left recursion grammer, elimi

i i

by
1) Parse tree 7% *%,

“iii) Is the gramm@g ‘ambiguous? WhX

iv) Describeithe 1anguage gener

v) Left ﬁaa&or the grammer.

Consider the/ f%llowmg grammﬁr with terminals (, [, ), ]

S>TS|[S]S])S|€
T- X

X TX|[X] X e ¢
i) Construct fi

~and follow sets

if) Construct its LL(1) parsing table

iii) Is this grammer LL(1)?

by the grammer

15CS63

(08 Marks)
(04 Marks)
(04 Marks)

(08 Marks)

(03 Marks)

%{% free grammer@ —> SS + | SS * | a and the input string

(05 Marks)

(08 marks)
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OR

The following is ambiguous grammer
S—>AS|b
A—>SA|a

Construct for this grammer its collection ‘ofse
parsing table for the grammer, there a@;@?ﬁhin conflicting actions
we tried to use the parsing table-by non deterministically choosing a possible action
whenever there is a conflict, sho the possible sequences of actions on input abab$.

Y , (10 Marks)
educe parser for the following

(06 Marks)

N Module-5
i
grammer given below :

s-»EN = N
E->E+T|EsWT
T»TTEQ%J’;:ZFW
F > (E) [digit
N—;"

i) Obtain the SDD for th¢ above grammer -« -

ii) Construct annotatecgg‘pag% tree for the input;s’tr;i?‘ig Sin b+ 7. (08 Marks)
Obtain the DAG for the expression, show tﬁ@@}@bs a+a*(b=c)¥(b-c)*d. (04 Marks)
Translate the ass';gnm%nt W =

i) Three addre

if) Quadrupwlﬁgs.w (04 Marks)
Po
Explaﬁﬁ, e issues in the @?@igi?’of a code generator. (11 marks)
Write the machine mst&(v’@f%ﬁs for the follo;g;fring three address instructions :
i) b=ali] o CnY
D afjl=c
iii)
iv)
V) (05 Marks)

* %k % % %
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